
SAP ABAP table RECP_OI_DOC_CA_ALL {General Document Data}

RECP_OI_DOC_CA_ALL

SUBROLE_RC [CHAR (4)]

SUBROLE_CL [CHAR (4)]

SUBROLE_P1 [CHAR (4)]

SUBROLE_P2 [CHAR (4)]

TIVBPSUBROLE

MANDT [CLNT (3)]

ROLE [CHAR (6)]

SUBROLE [CHAR (4)]

 RECP_OI_DOC_CA_ALL-SUBROLE_CL = TIVBPSUBROLE-SUBROLE 

0..N{0,1}

 RECP_OI_DOC_CA_ALL-SUBROLE_P1 = TIVBPSUBROLE-SUBROLE 
0..N{0,1} RECP_OI_DOC_CA_ALL-SUBROLE_P2 = TIVBPSUBROLE-SUBROLE 
0..N{0,1}

 RECP_OI_DOC_CA_ALL-SUBROLE_RC = TIVBPSUBROLE-SUBROLE 0..N{0,1}


